Class 7-Mathematics

Instructions for students: The notes provided must be copied to the Maths
copy and then do the homework in the same copy.

Chapter 3
RATIONAL NUMBERS

Exercise 3.2

5. Fill in the boxes with correct symbol <, > or =.

o\ —4 -5 =5 -7 e =7 42
i) — = i— [ ] = i) — —
5 7 8 4 8 -48
Solution:
N —4 -5
i) — —
5 7
L.C.M of 5and 7 =35
—4 —4x7 _ —28
5 5x7 35
-5 —5x5 _ -25
7~ 7X5 35
-28 -25
— < —
35 35
-4 -5
=P
5 7
.. =5 W
i) — —
8 4
L.C.M of 8 and 4 =8
-5 _ =5x1 _ -7
8 T o8x1 4
-7 _ —7x2 14
4 T 4x2 B
-7 -14
— > —
4 8
-5 -7
=N
8 4
-7 42

i) = 22

—48




L.C.M of 8 and 48= 48

~7 =76 _ —42
8 8x6 48
42 42x-1 _ —42
—48  —48x-1 48

.7 2
T8 EI —-48

6. Arrange the following rational numbers in Ascending order.

“)—3 5 9 -7
4’12’ -24’ 16
. -3 -5 —9 -7
.e.—,—,—,—
4’12’ 24’ 16

2 4,12,24,16

2| 2,6,12,8
21,364
2| 1,3,3,2
3] 1,3,3,1
1,1,1,1

L.C.M of 4, 12, 24, 16 = 2x2x2x2x3 = 48

-3 —3x12  -36
2 T Tax1iz " a8
-5 —5x4  —20
12 1zx4 a8
—9 —9x2  -18
24 2axz a8
—7 —7x3  -21
16  16x3 48

36 _ -21 20 _ -18

B s S T

BT 52




Home Work: Complete Exercise 3.2 in the Maths copy.
Solve Yourself: Question 2, 3,4, 7, 8.1, 9.

Watch the video for rest of the solutions.




